Spare parts and accessories ASKOMA
012-0150

Flange adapter

www.askoma.com 012-0150-e 01.11.2024 1/12



Overview

Detail
Art. number Description Picture etal
see page
012-0152 Flange adapter from @180mm to 12" internal thread 3
012-0153 Flange adapter from @190 to @180mm 4
012-0154 Flange adapter from @210 to @180mm
5
012-0154.1 | including gasket
012-0155 Flange adapter from @240 to @180mm 6
012-0156 Flange adapter from @257 to @180mm 7
012-0157 Flange adapter from @280 to @180mm
8
012-0157.1 | Including screw set for ASKOHEAT-F & 240/280mm
012-0158 Flange adapter from @290 to @280mm 9
012-0159 Flange adapter from @195 to @180mm 10
012-0161 Flange adapter from @300 to @240mm 11
012-0162 Flange adapter from @270 to @180mm 12

www.askoma.com 012-0150-e 01.11.2024 2/12



012-0152 Flange adapter from @180 to 12" internal thread

)
9% @130URCHALLES
@ 147 90° Oben 14 45" 13X 48°
S @ 14X 90° Unten ﬁ7_/—
F
Lk @150
fii
HY -
13 o
EEE B
it .
o ; .
{ 5,50
o o
|
m_
| ] W m i
5] =
=t ‘ i
L -—
= i)
: ‘|h
g |
| ﬁl_e( 34,50 .
1)
]
KL .
1y |ceros |
- =it il
[m GiiER| 3 .13 0.1 02 [+ 83 ]+ 0] s 08 | 1=
03062021 [PScimmager | Massm
12.112023 _ [3Sciaman 11
egeber (12112023 |ASkgemany o
Ofre sep. Bkl [ Prert Stk Fregegebel =1@ g
ep. Kz gielcher Kr. |- | Urspnrg 11425.0.0 T fomal alaurm.§
=20, SHckiisk arderer r. [ ]| Arikerur, O030462 Evandy [11428.0.0 | A3 1713
ASKQMA Bererrirg 2o Zelchnungs-Hr. Reulzlon %
it Flanschadaptervan @180 auf 1742 003-0462 1 :
s T s s . [ 3 [ z T Grmcheamrs T

Scope of delivery

Item number Quantity Description Order no.
1 1 Flange adapter @180 to 1'%" 003-0462
2 1 Gasket 007-0235

www.askoma.com 012-0150-e 01.11.2024 3/12



012-0153 Flanschadapter von @190 auf @180mm

@115

1X 48" 1X 45"

mh 2,50 =g
550

3x B9 DURCH ALLES
@ 15 T 10

8x 10,20 F 11,50
ni2x1.75 ¥ 8,50

146
130,67

1X 48" 1% 45°

gl:-‘ w R12
- H RS
¢,

195

Scope of delivery

Pos. Nummer Quantity Description Order no.
1 1 Flange adapter @190 to @180 003-0456
2 8 Hexagon socket screw M8x25 001-2010
3 8 Hexagon socket screw M8x20 001-2015
4
5

www.askoma.com 012-0150-e 01.11.2024 4/12



012-0154 Flanschadapter von @210 auf @180mm

10x @ 13 DURCH ALLES
L1®20T 14
Sx §10,20 ¥ 13 N\~ 22X 90°, Ober
W1211.75 T 15 N/ @15 X 90°, Untes

LK @130

@13

1%48°
1X 48" #

1X 48" 1X4s*

M12x1.75

mh2

1X 48"

20
e AA

Scope of delivery

Item number Quantity Description Order no.
1 1 Flange adapter @210 to @180 003-0457
2 8 Hexagon socket screw M12x20 001-2015
3 10 Hexagon socket screw M12x25 001-2016
*4 1 Flange gasket @210 007-0253
5

*4 only in conjunction with arficle number 012-0154.1

www.askoma.com 012-0150-e 01.11.2024 5/12



012-0155 Flanschadapter von @240 auf @180mm

I
g 3 [ L] I s | . 3 2 1
12% @ 13 DURCH ALLES
A L@ 20714
A N/ @ 22X 90°, Oben
~y O @ 15X 90° Unten Laser /Brenndaten .
A-A -
LK @210 -
[ 18 &
/] 15 = ||
min 2
8x @ 10,20 F 18 i
M12x1.75 F 15 o
2 1X 45° 1X 45° v
o o
L o s |
1x45° A 1% 45°
1% 45 AT hax a5
© H 14 g
—
A 20
i
143
DS
AU |
iis
%;f‘i P, @’"m"‘" e o =0 Z76EM H: 1565/ SEERD 14405
2 et g
] o rm"" m_gnileo] x“n‘:.l|:‘u.‘|;uz|;‘u: +05[+0=[+12
€ [ 110412023 [43vwaererr [Newe Vodage Eszklll 12042021 IFSCIM BE(’ Maszs b
g_ Geprm 12112023 _[SSchiman 12
ﬁ Freigegeben [12.112023_|A Stegemant < e
A s-Nr. H
Ohre zep. SHXlz e =] Protext Sk Freigegebe =] g
Zep. SHKIIs k glelcher Nr. [- ] Urzpnrg 11393.1.0 [ Fomal Blalllm.é
i Szp. S0z k rderer wr. [~ ]| svikel-nr. 0030460 Esawr_[11393.1.0 | 101 ]
H Bererrurg Zelchenrgs-Ar. Reulsicn | ¥
2% ,ﬁf:@MA, Flanschadapter von @240 auf @180 |003-0460 1 g
= 7 s 5 . | 3 | 2 I Gnca
T —

Scope of delivery

Item number Quantity Description Order no.
1 1 Flange adapter @240 to @180 003-0460
2 8 Hexagon socket screw M12x20 001-2015
3 12 Hexagon socket screw M12x25 001-2016
4
5

www.askoma.com 012-0150-e 01.11.2024 6/12



012-0156 Flanschadapter von @257 auf @180mm

! [
H 7 5 | s | . 3 2 1
10% @ 12 DURCH ALLES
N/ @ 12,50 X 90°, Ohen
N @ 12,50 X 90°, Unten
, LK 225 A-A '
1X 45° 1X 45°
s = L
8x 10,20 T 18 15 %
M12¢1.75 T 15 min 2[1%° =
g =
E E
o 1
1% 45° 1% 45°
== |, ———
. o i |
&
¢ c
O 20
8
B N -
i ) | e i R[S
o e [ oniie] 3 0.1 3 z[:
c A1ZZ3 [samaerere e e 11022021 [P Scim Kig Maszsth
g  — — :::n: 12.112023 |ss:|rnnmanenr 12
g [ Freigegeben [12.112023 A Stegemans : o
Aunivzgs-Nr. H
Otre sep. SIS E =] protext St Freegeber cE1® S
Sep. SHIzE gieicrer Nr. -] g [11992.30 [ Fomai | wmit o |2
=ep. S0k e k. [~ ]| Artkei-ur. 0030458 Eran sy [11392.3.0 | A3 1101z
ASKOMA Serereira Zeidergs N, Reuizion %
e Flanschadapter von @257 auf @180 |003-0458 1 :
2 7 5 s . [ 3
I

Scope of delivery

Item number Quantity Description Order no.
1 1 Flange adapter @257 to @180 003-0458
2 8 Hexagon socket screw M12x20 001-2015
3
4
5

www.askoma.com 012-0150-e 01.11.2024

7/12



012-0157 Flanschadapter von @280 auf @180mm

! [
" = 7 I 5 [ s | . 3 2 1
H . 12% @15 DURCH ALLES
3 £ N/ @ 16X 90°, Ohen
i:% 16 X 90°, Unten
@ * ey Laser /Brenndaten
'C'i LK @245 2 0
£ =
HH 19 &
fﬁ — /) 15 =
it _
E‘i‘f min 2
| ex @ 1020 T 18 f
B8 M12x1.75 ¥ 15 §
s 1X 45° 1% 45°
Ll T 2
— w0
=)
0,50 X 45° 0,50 X 45°
c
1X 45° / N1 X 45°
O 20
i
382
iia
HEE [
i3
§§§ .,.;"3.‘",(-7,\, n:r‘ﬁzg;mtmtrnll '{B%ﬂ?wtn Agemenkerraen B0 ZTESmH: 1565 SEE D 14405
§§§ e v/ms{ W T m) éi_rﬁ oo |
32 A5 [ [ 5.1 64
gf___ ¢ [t o1z [ommeee Newe vedoge ezl 0s.102020 e
233 H cepron__[12112023_[sSchiman 12
;i; g Freigegenen [12.112023 |4 Stegeman i o
13 =N =
5;% A Ohre sep. UKIsE ]| pretext ::‘: - Frelgegebe =1® g
§§$ Sep. KKz k gleicrer Nr. |- | Urzprrg 11391.0.0 [ Fomal l|anrm.§
§§_: Sep. SKIs ke arderer kr. [ || Artkel-nr.003-0461 Esanar  [11321.0.0 | A3 &
HH Berennirg Zelchenrgs-Nr. Reoision |4
é%é .A..{?SKQMA Flanschadapter von @280 auf @180 |003-046 1 g
3 ;; T RGO X
] I 3 | 2 [ Onchanm .60
T e e = ST v A
Scope of delivery
Item number Quantity Description Order no.

1 1 Flange adapter @280 to @180 003-0461
2 8 Hexagon socket screw M12x20 001-2015

3 1 Including screw set for ASKOHEAT-F 3240/280mm 019-0041

*3 only in conjuction with arficle number 012-0157.1

www.askoma.com 012-0150-e 01.11.2024 8/12



012-0158 Flanschadapter von @290 auf @280mm

g I T 5 | s I . 3 2 1
A-A
12% @ 13 DURCH ALLES 12MX1§11$'520¢1V;518
L_1@20F 14 A LK‘ e 20
\ﬁ @ Laser /Brenndaten
LK @258 1% 45° 1% 45° '
ﬁew s
‘ — 1
fb:c;“ 'i 7 0
) N 15 )
&
g E
O
o o
1X 45° 1X 45°
S ; c
3] -l M S
-~ o~
| p=1 14 L= I
20
f

Inng‘m'g?m g;rggmem!mu '{E';migﬂ‘?'\!" AREmEnkEraEn B0 ZPEEm H: 1565 ¢ SEEED 14405
i) 7 U 1 IO 0 =T i 3
fonc i g 2__2“)‘ mvnu:nxm] DII:I‘.I [ 5 * +
T o e oo Tamon baman e
é | Freigegeben |12.112023 |4 Stegeman : ¢
omulzn.smusn ][ Protext :::”L Frelgegebe s ae g
| P A T (AT | &5 [T
., ASKBMA | FiSchadapter von @290 auf 2280 |d§';§'_"ai55 1 :
s 7 s s | B | 3 ke
Scope of delivery
Item number Quantity Description Order no.

1 1 Flange adapter @290 to @280 003-0455

2 12 Hexagon socket screw M12x20 001-2015

3 12 Hexagon socket screw M12x25 001-2016

4

5

www.askoma.com 012-0150-e 01.11.2024 9/12



012-0159 Flanschadapter von @195 auf @180mm

A AR
22500 vy 8x 10,20 F 18 Laser/Brerndaes

| | M12x1.75 F 15 1% 45" 1% 45" [
Bx wﬁj{;uzgc;nLLES #& 15 g
@ 22X 90°, Obey
al, & SI
a
@115
195
o L
I | | I. I | I |
Scope of delivery
Item number Quantity Description Order no.
1 1 Flange adapter @195 to @180 003-0463
2 8 Hexagon socket screw M12x20 001-2015
3 8 Hexagon socket screw M12x25 001-2016
4
5

www.askoma.com 012-0150-e 01.11.2024 10/12



012-0161

Flanschadapter von @300 auf @240mm

)

[ ¥

[ + 3 | z

16x% @ 13 DURCH ALLES

» saxous sa

A-A
L 1@20T 14 . o Laser /Brenndaten
K @262 1X 45 1X 45 ”
74 18 =
J 15 &
12% 10,20 T 18 =
M12x1.75 & 15
min 2
_A
1X 45° 1X 45°
2 o
o~
=
[
14
20
Inng‘m'gml berBTerdesdaErrell Véﬂﬁgﬂ‘ﬁgﬂ\!" AREMERkEREn B0 ZTEEmH: 1565 SEERD 14405
o
e \_/ms{ TS m) Iéi 1 §m~ us"
T P 7 o3| .6|.=|. 1. .. 1o 2o
£ e m gnieg[+ 0.1+ 0.1[+02[+ 03[+ 05[s0=]2 12
c ekl 09.112023 [asStegemans [T
g Gegn___[12.112023_[SSchiman 1:2
1 Freigegenen [12.112023 |4 Stegemant :
H AN
Ohre sep. SNkl =] protext Stk Frelgegeben =@
Sep. S0z E gleicher K. |- ] Urzprrg [ Fomal [ Biaiit Ara.
Sep. SNckils b arderer Nr. |- ]| Ardkel-Nr. D03-0466 Ersat 1 | A3
- ASKQMA Berercirg Zelchourgs-Nr. Reulzion
mat Flanschadapter von @300_auf @240 |003-0466 0
= [ 7 s s . | 3 .

CADSy7Em: SOLIDVD RKE

Scope of delivery

Iltem number

1

www.askoma.com

Quantity
1 Flange adapter @300 to @240

Description

12 Hexagon socket screw M12x25

012-0150-e 01.11.2024

Order no.

003-0466

001-2016

11/12



012-0162 Flanschadapter von @270 auf @180mm

2 k! | s | s ‘ 3 2 1

2250 12x @ 11 DURCH ALLES
v @ 12 90° Oben
@ 12 ¥ 90°, Unten

A-A
-15° gedreht

%

Laser fBrenndaten ]

18

8x @ 10,20 T 18
M12x1.75 T 15 “ 15 m
min 2
iit

22% 3
E - E

§ 3¢

LK @150 y =

1% 45° 1 X 45°
= —

0,50 X 45°

T50 % 457

w 20 \1 K 45°

i | e : .502?@«.":15?!325‘20 (:cs
. . [ tangansbmazm n mm i Nannmaztamehs
ot g lgy) e P S ] T R R R
eco 7@"' m onieof+0.1]+0.1]+02[+03[+05] 202+ 12
< Bzl 31072024 [aStegeman Masssbn
4 cepron___[3107202¢_[SSchiman 12
H treigegeben [3107 2024 |4 Stegemant ]
Aunirgs-Nr. H
Ohre sep. Skl e =] Protext Sl Freigegebe s =1® g
ep. SNz E gleicrer Nr. |- ]| Ursprrg T Fomal | @iaiivara. §
Sep. SKKiIs k arderer Nr. [~ ]| Artkel-wr. 0030476 Ereat % | T
ZeicheurgsHr. Reuizion |8
ASK@MA  |FjEns
eSS Flanschadapter von @270 auf @180 |003-0476 1 g
3
s 7 s | s . | 3 | o

Scope of delivery

Item number Quantity Description Order no.

1 1 Flange adapter @300 to @240 003-0466
2 12 Hexagon socket screw M10x40 001-2013

3 8 Hexagon socket screw M12x20 001-2015

www.askoma.com 012-0150-e 01.11.2024 12/12




